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22. John Keats wrote _
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Doctor Faustus is ___

(¥F) a comedy

(¥) a tragedy

() a historical novel

(%) an absurd play

() Ode to the West Wind
(¥) Ode on a Grecian urn
() Tintern Abbey

(¥) The Ancient Mariner

. The passive form of the sentence, "Who

did the work?" is

(¥) By whom the work was done?
(¥) Whom had the work done by?
(%) By whom was the work done?

(9) Who was the work done? T o

. She succeeded ____ her good work.

(F) because
(%)) because of

(¥) since

(¥) as T: 9

. Choose the correct sentence.

(F) He resembles like his father.

(¥) He resembles with his father.

() He resembles his father.

T o

(%) He resembles similar to his father.

. Who composed 'Paradise Lost'?

() John Donne
() John Dryden

(%) John Keats
(9) John Milton ©: ¥

. What is the meaning of 'French leave?

() Leave on holidays
(¥) spending time in France
() Leave without permission

T o

(9) Emergency leave

. She works hard. What part of speech is

the underlined word?
(F) Adjective (%) Adverb

(o) Verb (9) Noun I

. The synonym of the word 'spectacular' is-

(F) ugly

(¥) spacious

(*) spatial

(9) breathtaking




wo. What type of sentence is ‘Do or die’? ©b. Choose the correct spelling.
(¥) Complex (¥) Simple (¥) Repeatition (%) Repeatation
(1) Compound (9) Exclamatory ©: o () Repetition (9) Ripitetion T o
. Charles Dickens was an English- 8o. I love reading books and ___ football.
() poet (¥) playwright () to play
(%) politician () novelist T. 9 (<) play

.He as well as his parents spending (#1) playing

(9) to have played

8. Choose the correct sentence.
(¥) Where have you born?
() Where are you born?

vacation abroad.

(F) are (%) is

(o) will (@) can T: ¢
. These books ___ me,

(¥) belongs to (¥) belong to

(1) are belonged by (%) belongs by ©:
@A ST 7 (9) Where did you born? T: o

(¥) Pneumonia (%) Dyspepsia
(?) Gastitris (9) Diarrhoea ©: 9
____ others is a great deed.
() To help (¥) Help () o
(°) To helping (9) To have helped ©: @ 1
.Lord of the Flies was written by- 2
(¥) Wiliam Shakespeare go. N7 @ @I GBT TATE?
(¥) william Wordsworth c¥%) ) (@)
(*) william Golding () {2} () {0} T
() T.S. Eliot T 71 | gg, B olftmA AT TC© 263 B 7GA
.Do you know the solution _ the a3 B AT =" TS @id 30° ==,
problem? Iefbw Twet T it
(F) of (%) for V3 26
(?) about (@) to ©: 9 © 26 ) V3

What does the idiom "tak t ) 26 P .
) meon: (o)

ar cdoes Hhe diom Take someone 101 o¢. fiww B s s frgw Witz

task" mean?

(%) Where were you born?

1
, X'+ 2 CERCE

(F) To give someone a task to do
(¥) To praise someone for his task
(?) To rebuke someone
(9) To appoint someone
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